EAGD - £42,73 =

]

1.39 4 2,478 =

11.48Kg + B.A9/Kg =

1

£190 + £286.53 =

15.864 - 9.427 =

|

12kg - 3.B62Kg =

Round your answers to 1 decimal place

17.68m + 3. 74m

]

23.B5 4+ 14.93 =

]

546+ 7.34 =

126.85 - 48.67 =

26.05 - 14.26 =

NNl

427,48 + 13,792 =

Colin says,
"4.6+ 3.7=7.13"

Explain why he is wrong,

Coco thinks that

3.06

~-L74

Explain why she is wrong,




1. A puppy weighs in at 1.078kg. He increases his weight by 0.495kg.

How much does he weigh now?

2. The numbers in this sequence increase by the same amount each

ke

time. Write the missing numbers,

]

4.56

5.46

3. Will is aiming to raise £450 on a sponsored walk. He already has donations of £291.45

How much more does he need to raise?

|

3.2x10 = 682 x10 = 376+ 10=
4+10 = 1263 +10= 95.7+ 10 =
L] 1] [ ]
14 + 100 = 166 + 100 = 24 +100 =
2.4 %100 = 13.62 x 100 = 19.08 x 100 =




